HALYARD* FACIAL PROTECTION SURGICAL AND PROCEDURE MASKS



ASSURED FACIAL PROTECTION CAN BE AS EASY AS 1,2,3



From standard and fluid resistant masks, to particulate filter respirators, eyewear, and face shields, Halyard offers a broad range of styles, features, and levels of protection. Halyard face masks are the choice of more healthcare professionals where comfort and protection are needed in a variety of tasks and procedures.

HALYARD LEADS THE WAY IN ASTM-RATED PROTECTION

Halyard, a world leader in face masks offers products that meet the ASTM F2100-11 standard at all levels. This helps you make sure you're protected appropriately for the fluid risk that may be present. You can, at a glance, pick the right mask for the task. It's as easy as 1-2-3.

ASTM International is a voluntary standards development organization whose work covers 15 industries, ranging from energy to chemicals to medical devices. ASTM F2100-11 is recognized by the FDA as the standard for medical face masks.



FIVE CRITICAL TESTS ONE NEW STANDARD

ASTM F2100-11

ASTM recently issued new guidelines for performance of medical face masks, including a requirement for fluid resistance and particulate filtration for even a Level 1 mask. ASTM F2100-11 standards also call for mask packaging to be clearly labeled with the level of protection in one of three levels: 1, 2 or 3. This new standard reinforces the importance of labeling to identify protection level, based on fluid resistance, filtration and breathability. This greatly simplifies the process of mask selection.

		LEVEL 1	LEVEL 2	LEVEL 3
Test Method	Test Description	ASTM F2100	ASTM F2100	ASTM F2100
ASTM F1862	Fluid Resistance with synthetic blood, in mm Hg	80 mm Hg	120 mm Hg	160 mm Hg
MIL-M-36954C	Delta P Differential pressure, mm H ₂ O/cm ²	<4.0 mm H ₂ O	<5.0 mm H ₂ O	<5.0 mm H ₂ O
ASTM F2101	Bacterial Filtration Efficiency (BFE), %	≥ 95%	≥ 98%	≥ 98%
ASTM F2299	Submicron Particle Filtration (PFE) @ 0.1 $\mu,\%$	≥ 95%	≥ 98%	≥ 98%
16 CFR Part 1610	Flammability	Class 1	Class 1	Class 1



For assured Level 1, 2 or 3 protection, look for the symbol on the package!





PROCEDURE MASKS WITH EARLOOPS

Item #	Product Description	Items/Box	Boxes/Case	Case Count
47080	Procedure Mask, Blue	50	10	500
47085	Procedure Mask, Green	50	10	500
17090	Procedure Mask, White	50	10	500
47095	Procedure Mask, Pink	50	10	500
47117	Procedure Mask, Yellow	50	10	500
47119	Procedure Mask, Yellow, for use with the PPE Dispensing System	50	10	500
17295	TEDDY BEAR* Procedure Mask, Teddy Bear Print	50	10	500
19700	Standard Procedure Mask, Blue	50	10	500
52356	THE LITE ONE* Procedure Mask, Blue	50	10	500
52357	THE LITE ONE* Procedure Mask, Green	50	10	500
52362	Fog-Free Procedure Mask, Blue	50	10	500
52363	Fog-Free Procedure Mask with SO SOFT* Lining, White	50	10	500
152	Standard Cone Mask, With Headband, Not Earloops, Blue	50	6	300
EVEL 1	FLUIDSHIELD* PROCEDURE MASKS - ASTM F2100-11			
tem #	Product Description	Items/Box	Boxes/Case	Case Coun
25867	Procedure Mask with SO SOFT* Lining, Yellow	50	10	500
25868	Procedure Mask with SO SOFT* Lining, Lavender	50	10	500
25869	Procedure Mask with SO SOFT* Lining, Blue	50	10	500
41802	Fog-Free Procedure Mask with SO SOFT* Lining, White	50	10	500
41803	Fog-Free Procedure Mask with SO SOFT* Lining, WrapAround Visor, White	25	4	100
EVEL 2	FLUIDSHIELD* PROCEDURE MASKS - ASTM F2100-11			
ltem #	Product Description	Items/Box	Boxes/Case	Case Coun
28810	Procedure Mask, Blue	50	10	500
52115	Procedure Mask, Blue	50	10	500
28821	Fog-Free Procedure Mask, WrapAround Visor, Blue	25	4	100
52116	Fog-Free Procedure Mask, WrapAround Visor, Blue	25	4	100
	FLUIDSHIELD* PROCEDURE MASKS - ASTM F2100-11			
EVEL 3			Dawas/Casa	C C
	Product Description	Items/Box	Boxes/Case	Case Coun
tem #	Product Description Fog-Free Procedure Mask with SO SOFT* Lining, Blue	Items/Box 40	10	Case Coun 400
tem # 00148	•			
tem # 00148 28797	Fog-Free Procedure Mask with SO SOFT* Lining, Blue	40	10	400
tem # 00148 28797 28800	Fog-Free Procedure Mask with SO SOFT* Lining, Blue Fog-Free Procedure Mask, Orange	40 40	10 10	400 400
tem # 00148 28797 28800 17107	Fog-Free Procedure Mask with SO SOFT* Lining, Blue Fog-Free Procedure Mask, Orange Fog-Free Procedure Mask, WrapAround Visor, Orange	40 40 25	10 10 4	400 400 100
tem # 00148 28797 28800 47107 47297	Fog-Free Procedure Mask with SO SOFT* Lining, Blue Fog-Free Procedure Mask, Orange Fog-Free Procedure Mask, WrapAround Visor, Orange Fog-Free Procedure Mask with SO SOFT* Lining, Orange	40 40 25 40	10 10 4 10	400 400 100 400
tem # 00148 28797 28800 47107 47297 00146	Fog-Free Procedure Mask with SO SOFT* Lining, Blue Fog-Free Procedure Mask, Orange Fog-Free Procedure Mask, WrapAround Visor, Orange Fog-Free Procedure Mask with SO SOFT* Lining, Orange TEDDY BEAR* Procedure Mask with SO SOFT* Lining, Teddy Bear Print	40 40 25 40 40	10 10 4 10 10	400 400 100 400 400
tem # 00148 28797 28800 47107 47297 00146 47137	Fog-Free Procedure Mask with SO SOFT* Lining, Blue Fog-Free Procedure Mask, Orange Fog-Free Procedure Mask, WrapAround Visor, Orange Fog-Free Procedure Mask with SO SOFT* Lining, Orange TEDDY BEAR* Procedure Mask with SO SOFT* Lining, Teddy Bear Print Fog-Free Procedure Mask with SO SOFT* Lining, WrapAround Visor, Blue	40 40 25 40 40 25	10 10 4 10 10	400 400 100 400 400 100
tem # 00148 28797 28800 47107 47297 00146 47137 47147	Fog-Free Procedure Mask with SO SOFT* Lining, Blue Fog-Free Procedure Mask, Orange Fog-Free Procedure Mask, WrapAround Visor, Orange Fog-Free Procedure Mask with SO SOFT* Lining, Orange TEDDY BEAR* Procedure Mask with SO SOFT* Lining, Teddy Bear Print Fog-Free Procedure Mask with SO SOFT* Lining, WrapAround Visor, Blue Fog-Free Procedure Mask with SO SOFT* Lining, Visor, Orange	40 40 25 40 40 25 25	10 10 4 10 10 4 4	400 400 100 400 400 100

PEDIATRIC PATIENT MASK				
Item #	Product Description	Items/Box	Boxes/Case	Case Count
32856	Child's Face Mask, Disney® characters, Ages 4-12	75	10	750

SURGICAL MASKS WITH TIES

STANDA	ARD SURGICAL MASKS			
Item #	Product Description	Items/Box	Boxes/Case	Case Count
47500	SOFT TOUCH* II Surgical Mask, Horizontal Ties, Blue	50	6	300
48100	THE LITE ONE* Surgical Mask, Blue	50	6	300
48105	THE LITE ONE* Surgical Mask, Green	50	6	300
62367	THE LITE ONE* Surgical Mask, White	50	6	300
48201	Surgical Mask, Blue	50	6	300
48210	Surgical Mask, with Heart Symbol, Blue	50	6	300
48296	TEDDY BEAR* Surgical Mask, Teddy Bear Print	50	6	300
48390	Surgical Mask with SO SOFT* Lining, White	50	6	300
49701	Standard Surgical Mask, Blue	50	6	300
59928	THE FRIENDLY* Surgical Mask, White	50	6	300
37525	DUCKBILL* Surgical Mask, Green	50	6	300
48220	DUCKBILL* Surgical Mask, Blue	50	6	300
STANDA	ARD SPECIALTY SURGICAL MASKS			
Item #	Product Description	Items/Box	Boxes/Case	Case Count
47625	High Filtration Surgical Mask, Silver	35	6	210
47650	High Filtration Fog-Free Surgical Mask, Silver	35	6	210
49214	Fog-Free Surgical Mask, Blue	50	6	300
49215	Anti-Fog Surgical Mask, with DERMA-TOUCH* Tape, Green	50	6	300
49235	Anti-Fog Surgical Mask, with Film Strip, Green	50	6	300
49310	ULTI-MASK* Fog-Free Surgical Mask, White	50	6	300
49216	DUCKBILL* Fog-Free Surgical Mask, Blue	50	6	300
47700	Pouch Style Mask with SO SOFT* Lining, Headband, Not Ties, Blue	50	6	300
47717	Pouch Style Mask with SO SOFT* Lining, Headband, Not Ties, Yellow	50	6	300
LEVEL 1	FLUIDSHIELD* SURGICAL MASKS - ASTM F2100-11			
Item #	Product Description	Items/Box	Boxes/Case	Case Count
28802	Surgical Mask with SO SOFT* Lining, Blue	50	6	300
41805	KC100 Surgical Mask with SO SOFT* Lining, White	50	6	300
28806	Fog-Free Surgical Mask with SO SOFT* Lining, Green	50	6	300
EVEL 1	FLUIDSHIELD* SPECIALTY SURGICAL MASKS - ASTM F2100-11			
Item #	Product Description	Items/Box	Boxes/Case	Case Coun
39117	Surgical Mask, with SO SOFT* Lining, Horizontal Ties, Blue	50	6	300
39118	Surgical Mask, with SO SOFT* Lining, High Clarity WrapAround Visor, Horizontal Ties, Blue	25	4	100
39125	Anti-Fog Surgical Mask, with Smart Adhesive, SO SOFT* Lining, Ties, Green	50	6	300
	FLUIDSHIELD* SURGICAL MASKS - ASTM F2100-11			
Item #	Product Description	Items/Box	Boxes/Case	Case Coun
28808	Fog-Free Surgical Mask, Blue with Orange Print	50	6	300
62113	Fog-Free Surgical Mask, Blue with Orange Print	50	6	300
28809	Fog-Free Surgical Mask, WrapAround Visor, Blue with Orange Print	25	4	100
62114	Fog-Free Surgical Mask, WrapAround Visor, Blue with Orange Print	25	4	100

LEVEL 2	LEVEL 2 FLUIDSHIELD* SPECIALTY SURGICAL MASKS - ASTM F2100-11				
Item #	Product Description	Items/Box	Boxes/Case	Case Count	
39123	Expanded Chamber Surgical Mask, with SO SOFT* Lining, Ties, Blue/White	50	6	300	
39124	Expanded Chamber Surgical Mask, with SO SOFT* Lining, High Clarity WrapAround Visor, Ties, Blue/White	25	4	100	

LEVEL 3 FLUIDSHIELD* SURGICAL MASKS - ASTM F2100-11					
Item #	Product Description	Items/Box	Boxes/Case	Case Count	
28820	Fog-Free Surgical Mask, Orange	50	6	300	
48207	Fog-Free Surgical Mask with SO SOFT* Lining, Orange	50	6	300	
48208	Surgical Mask with SO SOFT* Lining, Orange	50	6	300	
48297	TEDDY BEAR* Surgical Mask with SO SOFT* Lining, Teddy Bear Print	50	6	300	
28804	Fog-Free Surgical Mask, Anti-Glare WrapAround Visor, Orange	25	4	100	
48237	Fog-Free Surgical Mask with SO SOFT* Lining, Visor, Orange	25	4	100	
48247	Fog-Free Surgical Mask with SO SOFT* Lining, Anti-Glare WrapAround Visor, Orange	25	4	100	
48248	Surgical Mask with SO SOFT* Lining, WrapAround Visor, Orange	25	4	100	

EYEWEAR AND FACE SHIELDS

SAFEVIEW* EYEWEAR							
Item #	Description	Items/Box	Items/Case				
SV50A	SAFEVIEW* Eyewear Assembled Glasses, Assort- ed Colors	5	50				

SAFEVIEW* EYEWEAR COMPONENTS						
Item #	Description	Items/Bag	Items/Case			
SV100F	Eyewear Frames, Assorted Colors	10	100			
SV250L	Eyewear Replacement Lenses	10	250			

HALYAR	D* FACE SHIELDS		
Item #	Description	Items/Bags	Bags/Case
41205	Face Shield	40	1
41204	Face Shield, Long	40	1



N95 PARTICULATE FILTER RESPIRATORS

FLUIDSHIELD* N95 PARTICULATE FILTER RESPIRATORS				
Item #	Product Description	Items/Box	Boxes/Case	Case Count
46727	N95 Particulate Filter Respirator and Surgical Mask with SO SOFT* Lining, Regular, Orange	35	6	210
46728	N95 Particulate Filter Respirator and Surgical Mask with SO SOFT* Lining, Regular, Orange, Individual Bag	35	6	210
46767	N95 Particulate Filter Respirator and Surgical Mask, with SAFETY SEAL* and SO SOFT* Lining, Regular, Orange	35	6	210
46827	N95 Particulate Filter Respirator and Surgical Mask with SO SOFT* Lining, Small, Orange	35	6	210
46828	N95 Particulate Filter Respirator and Surgical Mask with SO SOFT* Lining, Small, Orange, Individual Bag	35	6	210
46867	N95 Particulate Filter Respirator and Surgical Mask with SAFETY SEAL* and SO SOFT* Lining, Small, Orange	35	6	210
62126	N95 Particulate Filter Respirator and Surgical Mask with SO SOFT* Lining, Regular, White	50	6	300
62355	N95 Particulate Filter Respirator and Surgical Mask with SO SOFT* Lining, Small, White	50	6	300

N95 PAF	N95 PARTICULATE FILTER RESPIRATORS ACCESSORIES				
Item #	Product Description	Items/Box	Boxes/Case	Case Count	
47950	Qualitative Fit Test Kit	1	1	1	
99175	FLUIDSHIELD* Ported N95 Particulate Filter Respirator with SO SOFT* Lining, regular size	100	1	100	
99181	FLUIDSHIELD* Ported N95 Particulate Filter Respirator with SO SOFT* Lining, small size	100	1	100	
99178	FLUIDSHIELD* Ported N95 Particulate Filter Respirator with SAFETY SEAL* and SO SOFT* Lining, regular size	100	1	100	
99184	FLUIDSHIELD* Ported N95 Particulate Filter Respirator with SAFETY SEAL* with SO SOFT* Lining, small size	100	1	100	
99003	Saccharin Solutions for Qualitative Fit Testing	2	1	2	
99009	Bitrex Solutions for Qualitative Fit Testing	2	1	2	
99010	Hood Assemblies for Qualitative Fit Testing, yellow	10	1	10	
99015	Hood Assemblies for Qualitative Fit Testing, clear	2	1	2	
99018	Nebulizers for Qualitative Fit Testing	2	1	2	



KNOWLEDGE NETWORK* Accredited Education In-service Training and Technical Support Credentialed Sales Representatives Tools & Best Practices Clinical Research Commitment to Excellence

For more information, please visit:

www.halyardhealth.com

Call 1-844-HALYARD (1-844-425-9273) in the United States and Canada.



